
A3

 

DWG No:

 

DO NOT SCALE DIMENSIONS IN MILLIMETERS0800 658 637 - www.monkeytoe.co.nz

T
his draw

ing and associated design is the copyright and property of M
onkeytoe Ltd. It shall not be used for any purpose or project, w

ithout prior w
ritten consent other that designated by M

onkeytoe Ltd.©

 

2004-HR-I-01

Handrail Install Guide

SHEET 1 OF 3
REV:01SCALE: 1:25

 

21/06/2019

 

MONKEYTOE GROUP

ROOF MOUNTED HANDRAIL

WALL MOUNTED HANDRAIL

BASE MOUNTED HANDRAIL

OFFSET WALL MOUNTED HANDRAIL

1

2

WALKWAY SIDE STANCHION

WALKWAY END STANCHION



 

A3

 

DWG No:

 

DO NOT SCALE DIMENSIONS IN MILLIMETERS0800 658 637 - www.monkeytoe.co.nz

T
his draw

ing and associated design is the copyright and property of M
onkeytoe Ltd. It shall not be used for any purpose or project, w

ithout prior w
ritten consent other that designated by M

onkeytoe Ltd.©

 

2004-HR-I-01

Handrail Install Guide

SHEET 2 OF 3
REV:01SCALE: 1:20

 

21/06/2019

 

MONKEYTOE GROUP

3 RAIL CONFIGURATION

1
10

0

4
45

4
30

8
8

2 RAIL + TOEBOARD CONFIGURATION

1
10

0

4
48

4
45

1
00

4
50

 M
A

X
.

2 RAIL CONFIGURATION

4
50

 M
A

X
.

5
58

4
45

1
10

0

5
60

 M
A

X
.

FRONT ELEVATION

1800 MAX.

OPPOSING CROSS BRACES REQUIRED AT EACH
END AND EVERY 5800mm (TYP.) IN BETWEEN

MIN. 50mm CLEAR AROUND HANDRAIL

DETAIL 1
1:5

DETAIL 2
1:5

2x Fasteners

4x Fasteners

TYPICAL FASTENERS

TIMBER: M10 x 100mm Coach Screw
CONCRETE: M10 x 75mm Concrete Screw
STEEL: M10 Stainless Steel Hex Bolt

HR008 HANDRAIL EXTRUSION

HR009 KNEERAIL EXTRUSION

R 25

1
5

39.5

R 20

34.1

4
50

 M
A

X
.

1
00

 M
A

X
.

4
50

 M
A

X
.

4
50

 M
A

X
.

1
0



 

A3

 

DWG No:

 

DO NOT SCALE DIMENSIONS IN MILLIMETERS0800 658 637 - www.monkeytoe.co.nz

T
his draw

ing and associated design is the copyright and property of M
onkeytoe Ltd. It shall not be used for any purpose or project, w

ithout prior w
ritten consent other that designated by M

onkeytoe Ltd.©

 

2004-HR-I-01

Handrail Install Guide

SHEET 3 OF 3
REV:01SCALE: 1:1

 

21/06/2019

 

MONKEYTOE GROUP

HANDRAIL FASTENERS
1:6

2x 22mm Tek Screw

50mm Tek Screw

50mm Tek Screw

HR008 Handrail Extrusion

HR009 Kneerail Extrusion

HR009 Kneerail Extrusion

HR006.* Handrail StanchionBASE MOUNTED STANCHION
1:5

HR006.* Handrail Stanchion

HR006.4 Stanchion Base Bracket

8x 22mm Tek Screw

2x 22mm Tek Screw

2x 22mm Tek Screw

HR006.2 Stanchion Backstay

HANDRAIL JOINERS
1:5

2x 22mm Tek Screw

2x 22mm Tek Screw

HR009 Kneerail Extrusion
HR015* Kneerail Joiner

HR014* Handrail Joiner

HR008 Handrail Extrusion

HANDRAIL ENDCAPS
1:5

HR010* Handrail Endcap

HR011* Kneerail Endcap

22mm Tek Screw

22mm Tek Screw

HANDRAIL CROSS BRACE
1:5

HR017* Handrail Cross Brace

22mm Tek Screw

22mm Tek Screw

HANDRAIL ELBOWS
1:5

HR013* Handrail Elbow

HR012* Kneerail Elbow

22mm Tek Screw

22mm Tek Screw

22mm Tek Screw

22mm Tek Screw

WALKWAY END STANCHION
1:5

4x 22mm Tek Screw

HR023* Walkway End Stanchion

WALKWAY SIDE STANCHION
1:5

6x 22mm Tek Screw

M10 x 25mm S/S Bolt
M10 S/S Spring Nut
M10 S/S Washer

WALL MOUNTED STANCHION
1:5

M10 x 65mm S/S Bolt
M10 S/S Nyloc Nut

2x M10 S/S Washer

HR007.* Wall
Mounted Stanchion

HR029* Walkway Side Stanchion


